
'o=!? 
-Wk 

'{* 
ìaw *"J *:*/ ,7r ffil -orT? *rw ?lt

. Uh( 4l,s k f,/-rJ S rg t,( r -lrf ¡(-(, ,s ¡rtt{-E j,S r g¡fr-

tv,'*ny' w ¡7*ha -71-"* *rl fry-ru

LVY,í- e s úttf-,Lts f T t *
',(-n4vfrg4-,1srr¡ßt + frrt(-t"fu ftrtf -rl,s (t],f r = #* ^# + ffi = !.2

'fut:*,f ' t,h(-n7g
r$99-xJSl{+ ß(t,6 +¡r€¡fJI=ff'ï,øtf w f,-*e7-,/4? ,T E**, *n

yrþ kq tre ryt f71 
-,,/"d 

\ f-,? ryn y'ç,ú

./ Q= lotf-t,J,g at fl+fiat-f,J,g {xt,f T - =

.î?

[etf-î,J S i"',,ri r + fr*g -ç1 Sf, r = ft ,r,\ 
T . rÊ,rt"t¡ î, =,r,r)?.4

-fr=, AfrYlt ,o ehu_"t? 
1 F

!= 'prntsIr I up ú,t/-L]str¡/[r =tt(â,rttf/t 
"f4

T -)c nly m.*d T* *2. *-Lw-ùr+w v w 'f S-,1* %+,7

r= ßy(zt{-Ê)SIt = flyrc,þ'TJ, off"ß,
-f nl Y fryf"-d Tn ryþ *r,Ynv'v'ûlo o -o* "f. Ç-,7*Ç"¡"a (g

'(*r/= ß *rV* 'wrd '(,n

o aly -zr þ ryft -h{P 5+"*, *Ter"* *"'f ? (|'ql
'(' €^o-v ívø¿*q v

f*( W{*r,L* € tra'tf* o h*.9"4yrat vc'? (e,'ø¡t (t

@ -,,y*l *n nvw "r rry*vr.và\*,wa¡-ad,tt¡)

'",ryd'(v w1 1f ffi <n ytvTL*WryJ *, I'

l*tt'f 'ø ry @tl-fu||,n¡f royt| = (¿'4 lf M (zt *'o¡1Ø,¿,

ß

f"

(11

fÉrvf--¿*ø

( oj,+dg

ft

*,rf"l"E

Mansuripur
Text Box
Problem 5)




